10-5. A full-wave precision rectifier is shown in Fig. P10-5. If the input voltage is v;, =
0.1 sin(20007r?), plot the transient response of the output voltage for a duration of 0
to 1 ms in steps of 10 us. The op-amp can be modeled by the circuit of Fig. 10-2(b),
and has R; = 2 MQ, R, = 75 Q, C, = 1.5619 uF, R, = 10 kQ, and A, = 2 X 10°.
Use the default values for the diode model. The supply voltages are Ve = 12 V and

VEE =12 V.
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(b) Circuit model

Figure 10-2 Ac linear model with a single break frequency.



